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(Tarsn1)

public interface AppendableCharSequence {
public char charAt(int index);
public int length();
public AppendableCharSequence append(char c);
public String toString();

}

(Furshn2)

public class ArrayAppendableCharSequence
implements AppendableCharSequence {
private static final int EXT_SIZE = 160;
private int length;
private char[] data;

public ArrayAppendableCharSequence() {
data = new char[EXT_SIZE];
}

public char charAt(int index) {
if (index < @ || index >= length)
throw new IndexOutOfBoundsException();
return data[index];

}

public int length() {
return length;
}

public AppendableCharSequence append(char c) {
if (data.length == length) {

char[] temp = new char[length + EXT_SIZE];

for (int i = @; i < ,|—i|5 it+) {
temp[i] = data[i];

}

data = temp;

}
data[length++] = c;
return this;

}



public String toString() {
return new String(data, 0, length);
}

}

(Far5h3)

public class ListAppendableCharSequence
implements AppendableCharSequence {
private static final int EXT_SIZE = 10;
private Bucket bucketList;
private int length;

public ListAppendableCharSequence() {
bucketList = new Bucket();
}

public char charAt(int index) {
if (index < @ || index »>= length)
throw new IndexOutOfBoundsException();

Bucket bucket = getBucket(index);
return bucket.data[ 1;
}

public int length() {
return length;
}

public AppendableCharSequence append(char c) {
int offset = length % EXT_SIZE;

Bucket bucket = getBucket();

if (offset == 0 & length != 0) {
bucket.next = new Bucket();
bucket = bucket.next;

}

bucket.data[offset] = c;

length++;

return this;

}

public String toString() {
char[] data = new char[length];
Bucket bucket = bucketList;
int size;

for (int len = length; len > 0; len -= size) {

size = (len >= EXT_SIZE) ? EXT_SIZE : len;
for (inti=9, j= 5 1 < size; i++, j++) |

data[j] = bucket.data[i];



bucket = bucket.next;

}

return new String(data);

}

private Bucket getBucket(int index) {
int n = index / EXT_SIZE;
Bucket b = bucketList;
for (int 1 = 9; 1 < n; i++) {
b = b.next;
}

return b;

}

private static class Bucket {
private Bucket next;
private char[] data = new char[EXT_SIZE];

}
}

(Farsh4)

public class Test {
static final int[] TIMES = {
5000, 10000, 50000, 100000
¥

public static void main(String[] args) {
for (int n : TIMES) {
measureTime(n, new ArrayAppendableCharSequence());
measureTime(n, new ListAppendableCharSequence());

}
}

static void measureTime(int n,zla) {
long start = System.currentTimeMillis();
for (int 1 = 0; 1 < n; i++) {
a.append((char) (i % 26 + 'a'));

long end = System.currentTimeMillis();
System.out.printf("%s: %d [times] %d [ms]%n",
a.getClass().getName(),
n, end - start);
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private Bucket last;

@ AYALSUFTT4—)VR last Z28HLT 5.

public ListAppendableCharSequence() {
bucketList = new Bucket();

}
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public AppendableCharSequence append(char c) {
int offset = length % EXT_SIZE;
if (offset == 0@ &% length != 0) {
last.next = new Bucket();

}

last.data[offset] = c;
length++;
return this;

}
AR
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